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program π1 program π2

read (y1,y2); read (y1,y2);

x=y1; z=y2; x=y1; z=y2;

u=x+z; if P(x,z) then {x=z; goto L1}
stop. else {z=z+x; goto L2};

L1: z=y1; x=y2;

if P(z,x) then {u=x+z; z=x;

x=u-z}
else {u=x-z; z=u+x};

stop;

L2: z=y2; x=y1;

if P(x,z) then u=2*x-z**2;

else u=z+z;

stop.

Figure 1: Programs with mode switching
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 ! "�����# 	� $ "����#� % ����� 〈δ1, . . . , δk〉 	� ������������ 	� �����

���������� �� ������ � �
	����
	� ��� ��� 	� ��� �	�����	�� �� ���	��� �
 C� 
�


���� Δ1, Δ2, . . . �	� ������� �������� ��	� C�

Definition 1. A deterministic propositional sequential program (PSP for
short) is a finite transition system π = 〈V, entry, exit, T, B〉, where

• V is a non-empty set of program points;

• entry is the initial point of the program;

• exit is the terminal point of the program;

• T : (V − {exit}) × C → V is a (total) transition function;

• B : (V − {exit}) → A is a (total) binding function.

% ��������	� ������	� ���������� ��� �	���	� &	
 	� � ��	����� 
������ � �������

������	� ���	������ 
��� ���� �	��� �	�� ����� ���������� '
 ��� ���� |π| 	� �

��	���� π 
� ���� ��� ����������
 	� ��� ��� V � %�
 ����� �������� 	� �	����
v1, v2, . . . , vn ���� ���� �	� ����
 i, 1 ≤ i < n, vi+1 = T (vi, Δi) �	��� �	� �	��

�	�����	� Δi� �� ������ � �
	��
� 
��� "	� � �����# �� ��� ()( π ��	� v1 �	 vn�

*� ��
 ���� vn �� ��������� ��	� v1 �� ����� ������ � ����� ��	� v1 �	 vn�

��� ��������� 	� ()(� �� ������ 
��� ��� ���� 	� +���,� ���������� ���� �� ���

�����
	�, 	� �
����� �	�����

Definition 2. A Kripke structure is a quadruple M = 〈S, s0, R, ξ〉, where

• S is a non-empty set of data states;

• s0 ∈ S is a distinguished initial state;

• R : A× S → S is a (total) updating function;

• ξ : S → C is a (total) evaluation function.
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�� �������	 
������� R 	�
�� ��� �������������� �
 ����� ����������� � ����

����� R(a, s) �� ��� ������ �
 ����������� �
 � ����� ��������� a �� � ���� ����� s�

�� �
�������� 
������� ξ �� ���� 
�� ��� �������������� �
 ����� ����������� ξ(s)

	�
�� � ����� �
 ������
����� 
�� ��� ����� ���������� �� � ���� ����� s� �� �

���� ���� �� M �� ���� ��� �������� �
 ������ s1, s2, . . . , sk ���� ���� si+1 =
R(ai, si) 
�� ���� ����� ��������� ai� 1 ≤ i < k�

��� π = 〈V, entry, exit, T, B〉 �� � ��� ��� M = 〈S, s0, R, ξ〉 �� �  ���!�

���������� � ��� �
 π �� M �� � �������� "#���� �� ��#����$ �
 �����

r(π, M) = (v1, s1), (v2, s2), . . . , (vi, si), (vi+1, si+1), . . . (1)

���� ����

%� s0 �� ��� ������� ����� �
 M � ��� v1 = entry&

'� si = R(B(vi), si−1) ��� vi+1 = T (vi, ξ(si)) ���� 
�� �
��� i, i ≥ 1&

(� ��� �������� r(π, M) ������ �� ��#���� "�� ���� ���� �� ��� ���� ��� ���

	

�� ��� ������ �� �������$� �� ���� ���� � ���� (vn, sn, Δn) ���� ����

vn+1 = exit "�� ���� ���� �� ��� ���� ��� ��� ���
������ ��� 	�
�� �

������ sn$�

)� ����� ↓ r(π, M) �� �������� ���� ��� ��� ���������� ��� ������ �� [r(π, M)]

��� ������ �������	 ���� ��� ������ �� ����#��� ���� r(π, M) ������ *� �� �����

�����	 ���� �
 vi = vj ��� si = sj 
�� ���� ���� �
 ������� �� "%$ ���� r(π, M)

������ *
 � ����� vi ������ �� ���� ������ �
 "%$ ���� �� ��� ���� r(π, M) ������

��� vi�

*� ���� 
������ ���� ��
�����	 �� � 

��	 
� ��
���
� M �� ���� ��� ��� �


��� ���� �
�� #+�� ��������� A,P ����� ��������� �� �����#�� �� ��� ��� M

�
  ���!� �����������

Definition 3. Given a model of programs M, we say that PSPs π1 and π2 are
equivalent (π1 ∼M π2 in symbols) iff [r(π1, M)] = [r(π2, M)] for every M ∈ M.

,�� ����
������ ������� 
�� � ����� �
 ���	����M �� �� ����!� 	�
�� � ���� �


���� π1 ��� π2� ������� π1 ∼M π2 ������ ,�� ������+��� �
 ��� ����
������

������� -π1 ∼M π2./ ������� �� ��� ��� �
 ���������� M ����� �����#�� �

����� �
 ���	����� ,�� �+������ ����� ���������� ���� �������
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Example 1. Given a set calA of basic statements, consider a free semigroup
〈A, ◦〉 generated by A. The elements of this semigroup may be thought of as
finite sequences (words) of basic statements, whereas binary operation ◦ may be
interpreted as concatenation. The empty sequence lambda stands for the neutral
element of the semigroup. Then the equivalence problem for the model of pro-
grams M ′ = {〈calA∗, λ, ◦, ξ} : ξ is an evaluation function on A is decidable
in time O(n log n). In [9, 29]it was demonstrated that the equivalence problem
for M ′ is reducible in linear time to the the equivalence problem for determin-
istic finite automata; the complexity O(nlogn) of the latter was established in
[8].

Example 2. Given a set A = {a1, . . . , an, a−1
1 , . . . , a−1

n } of basic state-
ments consider Abelean group 〈S, ◦〉 of rank n generated by the elements
from A. The equivalence problem for the model M ′ = {〈S, e, ◦, ξ} :
ξ is an evaluation function on S, where e is the unit (neutral) element of
S, was studied in [16]. It was shown that this problem is decidable within
exponential space when n = 1, and it is undecidable when n ≥ 2.
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� ��
 �� ��
���� �
�	 �$	 ������" #
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���
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� ��� �� �������
��� �� �������

�������
�� 	� �	
���
� �����
��
� �������
�" #
 ���� �����	
 $� �
��	����

�	������ ��� �	��� 	� ���� ��	����� �
 ��� �����$	�' 	� *&*+� ��
��) �
�

����
����"

,� $��� ������ ���� ��� ��� 	� ����� �������
�� A �� �������	
�� �
�	 �$	 ���-

���� Aord = {a1, . . . , ak} .�������� ��	���
/ �
� Amode = {b1, . . . , bN} .����



�	���
/" 0�	�� �	�
�� v �
 � *&* π ���� ��� ���	������ $��� �	�� �$������

.�"�" B(v) ∈ Amode/ ��� ������ 

�	����� ����	
" 1�� 	���� �	�
�� ��� ������ �����

���� ����	
" ,� $���� Vmode �	 ��
	�� ��� ��� 	� ��� �$�����
� �	�
�� 	� � ��
�


��	���� π" ,���	�� �	�� 	� ��
�������� $� $��� ������ ���� entry ∈ Vmode"
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	 �� �������� ���� ���
 ��������� �� �������
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� �� ��
 �
�

�� �		 �����
 ���
��
�
� M0 = {Mξ : Mξ = 〈S, s0, R, ξ〉} �
�� ����

 � S = {ε} ∪ AmodeA∗
ord� ��
� S ���	
�
� ��
 
���� ������ λ ��� �		 �������

ba1a2 . . . an� ��
�
 � ���
 ������ b ∈ Amode �� ��		��
� �� � ������ ��

�������� ������� a1a2 . . . an ∈ A∗
ord!

"� s0 = λ!

#� �� 
������� �
������ R �� �
$�
� �� ��		����

R(y, s) =
{

sy� �� y ∈ Aord�

y� �� y ∈ Amode�
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 ��
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 S ��� ��
 ���
���
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��� ���
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����� �
������

ξ� ���� ���� ���
 ��������� π1 ��� π2 ��
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&
���	
�� 'π1 ∼M0 π2 ��
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 Mξ ∈ M �
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���
� ���� �
�� r(π1, Mξ) ���

r(π2, Mξ) �
������
 �
� [r(π1, Mξ)] �= [r(π2, Mξ)]� �� ��
 �� ��
 �
�� '����

r(π1, Mξ)( �
������
�� ��
�
�� ��
 ���
� '�� �
� ���
� r(π2, Mξ)( 	�����

+��
� � ��� π� �
 ������
�
 ��
 �������� Gπ �� π �� � $���
 ���
��
� �����

���
��
� ��� �
��
�
����� ��
 �
������	��� �
	����� �
��

� ��
 ��������� ������

�� π� ,����		�� Gπ = (U, E)� ��
�
 U = Vmode ∪ {exit} �� ��
 �
� �� �
����
�

��� E = {〈v′, v′′〉 : v′, v′′ ∈ U, ��� v′′ �� �
�����	
 ���� v′ �� π �� � ����


����� ��
� ��� ���� ��� ��� ��������� ����� ���
� ���� v′ ��� v′′} �� ��
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 �� ��$���
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Proposition 1. If a run r(π, Mξ) of a PSP π traverses the skeleton Gπ along
a trajectory v1, v2, . . . , vi, . . . , vj , . . . such that vi = vj then r(π, Mξ) loops.

� ���������	 v1, v2, . . . , vn 
� � �
������ Gπ 
� ������

• �����������	��� 
� 
� ���� ��� ���� ��
�� �
� ��� ���� �������

• 
������� 
� 
� 
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�
������� ��� ���� 
� ��� ���� vn = exit�

����� � ����
���
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������ Gπ ���	 ����� � ����
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� ���� �� ��	 ����
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��� �� π�� !	 "�����
�
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��� ���� �� ������ � ��� �� π ������ �������� ��� �
������ ����� � ���������	

v1, v2, . . . , vi, vi+1, . . . ���� ���� v1, v2, . . . , vi 
� � �����
�
������� ���������	 ���

vi+1 ∈ {v1, v2, . . . , vi}�

��� ������
�
�� $���� 
� $�� � ����������� �� ��� �%�
������� ���$��� π′ ∼M0

π′′ 
� ����� �� ���� �������
�� �� ���������
�� 
� ��� �
������� �� ��� "&"��

Proposition 2. PSPs π′ and π′′ are not equivalent on M0 iff there exists a pair
of repetition-free trajectories w′ = v′1, v′2, . . . , v′n and w′′ = v′′1 , v′′2 , . . . , v′′m in the
skeletons Gπ′ and Gπ′′ such that for some structure Mξ the runs r(π′, Mξ) and
r(π′′, Mξ) traverse the skeletons along the trajectories w′ and w′′ respectively,
and meet one of the following requirements:

R1: both trajectories are complete and [r(π′, Mξ)] �= r[(π′′, Mξ)];

R2: one of the trajectories (say, w′) is complete, whereas the other (w′′) is
traversed by the run which loops on ordinary points;

R3: one of the trajectories (say, w′) is complete, whereas the other (w′′ ) is
traversed by the run which loops on switching points.
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���
�� ��
�� u 
� ��� ������ �� ��	� ���$ ��� ����
&���
�� Specuv


	����� �������
��� �� � �� �������
�� �����
�� ξ �� ��	� ���� ���� b� ba1�

ba1a2� . . . � 
���� b = B(u) ��� a1, a2, · · · ∈ Mord$ %� ���� �� ��&�� ��� �����


&���
�� �� ���� ��� ��* ��������� Mξ 
�
�� ���
�&�� Specuv ��� ��� r(π′, Mξ)

-�� r(π′′, Mξ) ������
�� �� ��� ���������* 〈u, v〉 ������� ��. 
��� �����
�� ���	

��� ��
�� u ������� ��� ��
�� v$ )� ���� �� ��� ����
&���
��� Specuv ��� ���

������� ��� ��� ���� �� ��� ���������
��� 
� 	�* ��	���� ��� ������
�� ���������

Mξ$

%��� ��
��
�� �� Specu1v1 ��� Specu2v2 ��� � ��
� �� ���� 〈u1, v1〉� 〈u2, v2〉


� ������ �� ���� ���� ��� ����
&���
��� ��� ����������� 
$�$ 
	���� ��� ��	�

�������
��� �� ξ �� ��� ��	� ���� ������$ �
� ����� ��� ����
��� ������
�� ��

��� 	��� �

����� ���
���� �� u1 ��� u2$

 $ ��� �

���
�� ��
��� u1 ��� u2 ��� �����
���� 

�� �
��
��� 	���

�

������ 
$�$ B(u1) = b1 �= b2 = B(u2)$ ��
� 
	��
�� ���� ��� ����

����� ��� ����
&���
��� Specu1v1 ��� Specu2v2 ����� �� ��� �
���
��$

��������� ����� ����
&���
��� ��� ��
�*� ����
����� ��� 	�* �� ��
�� ��


�����������*$
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�� ��� ���	
���� 
���	� u1 ��� u2 ��� ����
��	�� ��	� 	�� ���� ����

���	
�� ���� B(u1) = B(u2) = b� ���� 	�� �
�
��
�	���� Specu1v1 ���

Specu2v2 ��� ����� 	� 	�� ���� ��	� 
�	�� ���������� �
�
��� 
��� ���	

�� 	���� 	� 
�������	� ����
�������� 	�� ������
���	 �� ��
� �
�
���


�	����  �	 �� ���� �� 	�� ��	� 
�	�� 	���� �
�
��
�	���� ���� ��	�

�������� 	��� ���� ����� ����� 	� ��� �	��� 
����� ��	� �	�	� ��� 	��

���
�������	��� ��� �� 
������

����� ��� �
�
��
�	���� Specuv 
�� �� ����	 �
 �� 
������� 
������� 	��	 ����

�

��
���	� ���
�������	��� �� ���� 	� ������ 	���� 
�����	��
�� ���� 
�������

���
�������� ������	��� �� 	�� �
�
��
�	���� 
�� �� ��
�����	�� �� ���� !"#

D� ��� ��	����� �	�	�� �� D ���
 ���� 	��
� �� 	�� ��������� �������	���$

• # 	�
�� [v1, . . . , vN ] �� 
���	� �� π′ ��� π′′� %���� ������	 vi �� � 
���	

�� π′ �� π′′ ���
� �� 
�����	�� �
������ �� �		��
	 	� ���	� � 	��
� ����

	�� ���	
���� 
���	 u 	� 	�� ���	
���� 
���	 v ��� ���� ��
 〈u, v〉 �� 	��

	��&�
	����� w′ ��� w′′�

• '��
�������	��� 	���� H � (	 �� ���� 	� 
������ 	�� 
�����	��
� �� 	����

�
�
��
�	���� 	��	 ����� 	� 	�� ���� ��	� �	�	��� ��� ���
�������	���

	���� ��� �� ������ �� � ���	� ��	 �� 
���� (e1, e2) �� ��
�� %���� ��
�


��� ���� ����� ��	 ��	� 	�� 	���� H ����
�	�� 	��	 	�� 
�����
������

�
�
��
�	���� Spec1 ��� Spec2 ���� 
�������	��� 	� ����	��� 	���� 
���

���	��
��

)� ��
� 
��
�	�	��� �	�
 D ����� �� ��
�	 ��������� � 	�
�� �� 
����	����

[Δ1, . . . ,ΔN ]� ����� 
����	���� ���� ���� 	� ��� 
���	����	� 	��	 ������ ��

����� 	� 	�� �
�
��
�	����$ ��
� Δi �� ������ �� � 
������� ����� �� ξ �� 	��


�����	�� �
������ ��	� �	�	�� ��� ���
�������	��� 	���� H �� ���� 	� 
��
� 	��

����	�	� �� 	���� 
���	����	� 	��	 ������ �� ����� 	� 
�������	�� �
�
��
�	�����

���� !"# D 
��
�	�� 	�� �
��	�� 	�
�� �� 
���	� [T (v1, Δ1), . . . , T (vN , ΔN )]

��� ������� 	�� ���
�������	��� 	���� H �� ����� 	�� 	�����	��� ���
	���� T

��� 	�� 	�� ������� ���
	���� B �� ��	� *'*� π′ ��� π′′� ���� �����	� ��

	�����	��� �� D 	� 	�� ��+	 ��	����� �	�	�� �� 
��
��	� 	�� 
��
�	�	��� �	�


D 
��
�� ���	��� 	�� ��� ��	����� �	�	� ��	����� ���� ��&�
	��� 
����	���, ��

	��� �� 	�� 
��� 	��� D �

�
	�� ��� �

�
	��
� ��
���� 	�� �+��	��
� �� �

�	��
	��� Mξ ��
� 	��	 w′� w′′ ��� Mξ 
��
�� ��	� ��� �� 	�� ��-�������	�

./0.1 ���
������ �� 	�� ��&�
	��� 
����	��� 	� �� 
��
�����

2�� �� 
������� � !"# D1 ��	����� ��� 
��
���� 	�� ��	��������	� �� 	�� ���

-�������	 ./ ��� ���
���� 	��� !"# �� ���� ��	����
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��� π′ = 〈V, entry′, exit, T, B〉 ��� π′ = 〈U, entry′′, exit, T, B〉� �	 
��
����

��� �	����	� �� ���� �

��� ���� V ∩ U = {exit}� ��� �	�� ���
 ���� ���


��� ����
���	� ������	� T ��� ��� 
��� ������� ������	� B ������ 	� V ∪U �

��� w′ = v1, v2, . . . , vn, exit ��� w′′ = vn+1, vn+2, . . . , vn+m, exit �� �	�
����

�������	���
 �� ��� 
�����	�
 	� π′ ��� π′′ ��

���������

��� H(n, m) ���	��
 ��� 
�� 	� ��� ���	������ 
���
 (i, j)� 1 ≤ i, j ≤ n + m�

i �= j� ��� H0(n, m) = {(i, j) : (i, j) ∈ H(n, m), B(vi) = B(vj)}� ��� 
��

H0(n, m) ��������
 ��� ��	
� 
���
 	� 
�������� 
	���
 �� w′ ��� w′′ ���� ���

�

	������ ���� ��� 
��� �	�� 
������

���� D1 = 〈Σ, Q, q0,accept, δ〉� �����

• Σ = Cn+m �
 ��� ��
�� ��
�����!

• Q = {accept, reject}∪ (V n×Um×2H(n,m)) �
 ��� 
�� 	� �������� 
����


	� D1!

• q0 = 〈v1, . . . , vn, vn+1, . . . , vn+m, H0(n, m)〉 �
 ��� 
������� 
���� 	� D1!

• accept �
 ��� ����
���� 
���� 	� D1!

• δ : Q × Σ → Q �
 ��� �
������ 
���� ����
���	� ������	��

��

	
� q = 〈u1, . . . , un+m, H〉 �
 ��� �������� 
���� 	� D1 ���

z = 〈Δ1, . . . ,Δn+m〉 �
 ��� ��
�� 	� �	�����	�
� ��� 
���� ����
���	� ������	�

δ �
 ������ ���	����� �	 ��� �	��	���� ����
 ��� 
�	���� ���� ���� ���� � �����

�"
������	� 	� ��
 �������� ������� �

#� $� Δi �= Δj �	� 
	�� 
��� (i, j) ∈ H ���� δ(q, z) = reject �����% ���

��
�� z �	�
 �	� �	�
�� ���� 
�����	��&���	� ��'��
�! ��� �	�
������


��
	
�� 	� ξ ��� ���	�
�
���� !

(� )������
�� �	�
���� ��� ��
�� 	� 
	���
 〈u′
1, . . . , u

′
n+m〉 
��� ����

u′
i =

{
T (ui, Δi)� �� ui �
 �� 	������� 
	���� 	� q = q0�

ui� �� ui �
 � 
�������� 
	��� ��� q �= q0�

�	� �����

1 ≤ i ≤ n + m�

��	 ��
�
 ��� 
	

�����

*�
� #% ��� 
	���
 u′
i� 1 ≤ i < n� ��� u′

j � n+1 ≤ j < n+m� ��� 
��������


	���
� ��� �� ���
� 	�� 	� ��� 
	���
 u′
n ��� u′

n+m �
 ������ � 
��������


	���� 	� exit� ����
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��� �� u′
n �� u′

n+m �� � �	�
���
� ���

� �� �� 
���� ����
� i�

1 ≤ i < n + m� i �= n� ���� 
��
 u′
i �� � �	�
���
� ���

� ��


u′
i �= vi+1 
��
 δ(q, z) = reject ������ 
��� ���
� 
��
 
��

��
���
�
 D1 �	�

 ��� 
�� 
�����
��� 	��
 �����
� ��� � 
����

��
��� ���� vn−1 �
� vn+m−1 
� exit� �� ���� vi 
� vi+1��

��� �� u′
i = vi+1 ����� ��� ��� 1 ≤ i < n + m, i �= n� �
�

u′
n = u′

n+m = exit� �
� (n, n + m) ∈ H 
��
 δ(q, z) = reject

������ 
��� ���
� 
��
 D1 ����
 � ��������
��
 �� � �
���
���

Mξ ���� 
��
 [r(π′, Mξ)] = [r(π′′, Mξ)]��

��� �
���	��� δ(q, z) = accept ������ 
��� ���
� 
��
 D1 ����
 �

��������
��
 �� � �
���
��� Mξ ���� 
��
 ��
� ��
� r(π′, Mξ) �
�

r(π′′, Mξ)] 
�� ���� 
�� �!���
�
� ���
� 
�� 
�����
����� w′ �
� w′′�

��
 [r(π′, Mξ)] �= [r(π′′, Mξ)]�"

#��� $� �
 ����
 �
� ���

 u′
i� 1 ≤ i < n + m� i �= n� �� �
 ��%

��
��� ���

� �� ��
� u′
n �
� u′

n+m ��� ����
��� ���

�" &��


δ(q, z) = 〈u′
1, . . . , u

′
n+m, H ′〉� 	����

H ′ = H − {(i, j) : ��
� u′
i, u

′
j ��� ����
��� ���

�� �
� B(u′

i) �= B(u′
j)}

�� � 
�	 ��
����
�'�
��
 
����" ������ 
��� ���
� 
��
 
�� 
�� ����
�

���
� ���� ���� �
 
�� 
�����
��� �� 
�
 ������
�� ��
� B(u′
i) �= B(u′

j)

������� 
��
 ��
� ��
�� �
 
�� ��������
��
� Specvivi+1 �
� Specvjvj+1

�� ���� �
� 
�� ��
����
�'�
��
 ��� 
���� ��������
��
� �� �� 
� ���
���

��
��(��
���" �

&�� )*+ D1 
��� ���
�� ��� �� 
�����
 �� �� � �
�%	�� �
�
� �
�
� ��%

���
� �����
�
� �
 � 
��� �� ���� �

� n + m 
���!�" ,
 
�� i%
���! �


������
�� ���� ������

 ri �� 
�� ��
� �� -.-� π′ �
� π′′" .��� ������



ri = (v1
i , s1

i , Δ
1
i ), . . . , (v

k+1
i , sk+1

i , Δk+1
i ) ����
� 	�
� � 
����� 	���� ���

 v1

i ��

��
��� � �	�
���
� ���

 �� entry� �
� �
�� 	�
� � 
����� 	���� ���

 vk+1
i ��

��
��� � �	�
���
� ���

 �� exit" &�� ��
����
�'�
��
 
����� �� D1 �
���� 
��


�
�� 
���� ����� �� ��
� �� π′ �
� π′′ ��� ������
�� 
��
 ����� �� ��������� �



�� ���� �
���
���" &�� �����
�
� ��
��
��
� ����	 D1 
� ���������� �������%

����� � ������
��
 �� 
�� ��
� �� 
�� ���
 ������

� �� 
���� ��
� ����� ������



�����
�" &��� 	� ���� � �


Proposition 3. Let w′ and w′′ be complete trajectories in the skeletons of π′

and π′′ respectively. Let DFA D1 be as specified above. Then L(D1) �= ∅ iff
there exists a structure Mξ such that the runs r(π′, ξ) and r(π′′, Mξ) traverse
the skeletons along the trajectories w′ and w′′, and [r(π′, Mξ)] �= [r(π′′, Mξ)].
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� �	�� ���
��� �
 ��� �������
�� �
� �������	
 ��
��

����� �� �	 ���
��	�� � ��� D1 �
��
��� �	� ������
� ��� ���������
� �� �
�	

��� ���� D2 �
� D3 ����  	�
� !� ����	
��!
� �	� ��� ���������
�� �" �
�

�#$

%	 �	
������ D2 	
� ��� �	 ��� 	& �
 π′′ ���	
�
� �	

����� �	��	
�
�� ����

��� ���� ��	� � �����
� �	�
��$ '��

Vinf = {v : ����� �� � ���
� �
 π′′

 ���� �	
���
� 
	 � �����
� �	�
�� �
� ������ (�� v}

%��
 D2 	������� �� �	

	 �) ����� �	
�������
� ��� ���
� 	� �	�
��

〈u′
1, . . . , u

′
n+m〉 ���� ���� " �
 ��� ���������	
 	� D1�* ��

• ������� ���
� "�!�� �� u′
i = vi+1 �	
�� �	� �

 1 ≤ i < n + m, i �= n* �
�

u′
n = exit* �
� u′

n+m �� ������ � � �����
� �	�
� 	� exit*

• ������� ���
� "���� u′
i = vi+1 �	
�� �	� �

 1 ≤ i < n + m, i �= n* �
�

u′
n = exit* �
� u′

n+m ∈ Vinf $

�� ��  	���� 	� 
	���� ����  ��
 �� �	�� �	�������	
 ���� D2 ������� �����

�	
�������
� ��� ���
� 〈v2, . . . , vn, exit, vn+2, . . . , vn+m, u〉 ���� ���� u ∈ Vinf *

���� ��	�
� !� �
��������� �� π′′ �� �����
���  ��� �
 �
!	�
� �	���!�
��� �	

�	
��
�� �
 �
+
��� �
		��
�� ��
 �
	
� �	�� ���
� 	
 	���
��� �	�
��$

,���
��
� �	 D2* ����� �	
�������
� ��� ���
� 	� �	�
�� 〈u′
1, . . . , u

′
n+m〉

D3 ������� ���
� "�!�� �� u′
n+m �� ������ exit* 	� � � �����
� �	�
�

	���� ���
 vn+1, . . . , vn+m* �
� ������� ���
� "���� �� u′
n = exit �
�

u′
n+m ∈ {vn+1, . . . , vn+m}$

Proposition 4. Let w′ be a complete trajectory and w′′ be a repetition-free
trajectory in the skeletons of π′ and π′′ respectively. Let DFA D2 and D3 be as
specified above. Then

1. L(D2) �= ∅ iff there exists a structure Mξ such that the runs r(π′, Mξ)
and r(π′′, Mξ) traverse the skeletons along the trajectories w′ and w′′,
and r(π′, Mξ) terminates, whereas r(π′′, Mξ) loops on ordinary points of
π′′.

2. L(D3) �= ∅ iff there exists a structure Mξ such that the runs r(π′, Mξ)
and r(π′′, Mξ) traverse the skeletons along the trajectories w′ and w′′,
and r(π′, Mξ) terminates, whereas r(π′′, Mξ) loops on switching points
of π′′.
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Theorem 1. The equivalence problem π′ ∼M0 π′′ for PSPs with mode switch-
ing is decidable in polynomial space.

Proof. Due to Savitch’s theorem [30] we can convert any nondeterministic poly-
nomial space algorithm into deterministic one. Therefore it will suffice to design
a nondeterministic polynomial space procedure for checking non-equivalence of
PSPs with mode switching. It is as follows. Given a pair of PSPs π′ and π′′

it builds their skeletons Gπ′ , Gπ′′ and guesses a complete trajectory w′ in one
of the skeletons and a repetition-free trajectory in the other. Then it checks
the emptiness of DFAs D1, D2 and D3 corresponding to π′, π′′ and the se-
lected trajectories. Propositions 2–4 guarantee that π′ �∼M0 π′′ iff for some
pair of trajectories one of the DFAs Di, i = 1, 2, 3, is non-empty. As may be
seen from the descriptions of DFAs Di, these automata has O(2poly(n)) states,
where n = |π′| + |π′′|. Hence, their non-emptiness may be certified within a
polynomial space.

�� ������	
�� 


��


��� ������	
�� �
 ���
�
�� ��������� ����� ��� ��� �� 
������� �� � �����

�	�����

Theorem 2. The equivalence problem for PSPs with mode switching is
PSPACE-complete.

Proof. We demonstrate how to build in linear time, given a family of n DFAs
Fi, 1 ≤ i ≤ n, of size |Fi| = n, a PSP π of size |π| = n2 such that the

intersection
n⋂

i=1

L(Fi) = ∅ iff π has no terminating runs, i.e. π0 is equivalent to

the empty PSP.
Without loss of generality, we may assume that each DFA Fi operates on
binary input alphabet {0, 1}, i.e. Fi = 〈Qi, δi, q

0
i , Q′

i〉, where Qi is a fi-
nite state of states, δi : Q × {0, 1} → Q is a (total) transition function,
q0
i ∈ Qi is the starting state, and Q′

i ⊆ Qi is the set of final states. Let
Amode = {b}, Aord = {a}, and P = {p1, p2}. For every DFA Fi we build the
PSP πi = 〈Qi ∪ {dead, entryi, exiti}, entryi, exiti, Ti, Bi〉 whose transition
function Ti is defined as follows for every q ∈ Q and x ∈ {0, 1}:

1. Ti(entryi, 〈x, 0〉) = q0
i , and Ti(entry, 〈x, 1〉) =

{
exiti, if q0

i ∈ Q′
i,

dead, otherwise;

2. Ti(q, 〈x, 0〉) = δi(q, x), and Ti(q, 〈x, 1〉) =
{

exiti, if δi(q, x) ∈ Q′
i,

dead, otherwise;

3. Ti(dead, Δ) = dead.
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It is easy to see from the construction of πi that a binary string
w = x1x2 . . . xk, k ≥ 0, is accepted by Fi iff r(πi, Mξw) terminates on a
structure Mξw such that ξw(b(a)k) = 〈xk, 1〉 and ξw(b(a)i) = 〈xi, 0〉 for all
1 ≤ i < k.

The PSP π0 is obtained from the family of PSPs π1, . . . , πn by identifying each
point exiti, 1 ≤ i ≤ n− 1, with the point entryi+1. It is easy to verify that a
binary string w is accepted by every DFA Fi iff ↓ r(πi, Mξw) hold for all PSPs
πi iff ↓ r(π0, Mξw).

Finally, consider any PSP πempty such that the terminal point exit is un-
reachable from the initial point entry in πempty (PSPs of this kind are called
empty PSPs). Clearly, an empty PSP has no terminating runs, and therefore
n⋂

i=1

L(Fi) = ∅ iff π0 ∼M0 πempty . Thus the Intersection Emptiness Problem for

DFAs, which is known to be PSPACE-complete, is reducible in linear time to
the equivalence problem for PSPs with mode switching.
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